Which of the major federal party leaders is best described by the following traits? - A tough negotiator who would get the best deal for Canada from President Trump

ge
Total Male Female 18-34 35-54 55+ Post Sec The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (B8Q) Party of Would
Canada spoil ballot
A B C D E F G H | J K L
Base: All Respondents (unwtd) 1000 439 541 229 402 369 30 156 414 400 287 418 94 47 18 7 6 30 93
Base: All Respondents (wtd) 1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
331 176 150 104 114 113 44 92 127 68 255 7 11 9 1 1 * 17 29
Pierre Poilievre 33% 37% 30% 38% 33% 29% 30% 34% 38% 28% 83% 2% 11% 19% 8% 12% 4% 41% 26%
*x | KLR K* 3 ** ** ** ** K*
488 225 254 85 168 235 50 138 153 146 32 335 29 25 9 1 2 10 46
Mark Carney 49% 47% 50% 31% 49% 61% 35% 50% 46% 60% 10% 94% 31% 50% 47% 11% 15% 24% 41%
C cD *ok GH JLR J* *k *k *k >k *k J*
78 26 47 42 24 12 5 28 27 17 5 12 40 1 - 2 1 5 12
Jagmeet Singh 8% 5% 9% 15% 7% 3% 3% 10% 8% 7% 2% 3% 42% 2% = 38% 12% 12% 11%
DE *x JKR* 3 ** ** ** ** IK*
41 16 23 17 11 13 18 4 14 5 1 3 9 - 4 = 1 1 22
Jonathan Pedneault 4% 3% 5% 6% 3% 3% 12% 1% 4% 2% * 1% 9% - 20% - 11% 1% 20%
*ok JK* *k *k *k *k *k JK*
29 20 9 15 4 9 15 2 7 4 11 1 2 11 1 - - 1 2
Yves-Francois Blanchet 3% 4% 2% 6% 1% 2% 11% 1% 2% 1% 4% * 2% 23% 5% - - 2% 2%
D *x K * 3 ** ** ** ** *
33 13 21 9 19 6 13 11 7 3 3 - 4 3 4 2 7 8 2
Maxime Bernier 3% 3% 4% 3% 5% 1% 9% 4% 2% 1% 1% - 5% 7% 20% 38% 57% 19% 2%
E *ok K* *k *k *k *k *k *
1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Which of the major federal party leaders is best described by the following traits? - Would roll over and accept whatever President Trump demands

ge
Total Male Female 18-34 35-54 55+ <HS HS Post Sec The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J
Base: All Respondents (unwtd) 1000 439 541 229 402 369 30 156 414 400 287 418 94 47 18 7 6 30 93
Base: All Respondents (wtd) 1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
425 199 214 129 130 166 39 123 142 120 54 236 47 17 8 3 3 24 34
Pierre Poilievre 42% 42% 42% 47% 38% 43% 27% 45% 42% 49% 17% 66% 50% 34% 41% 46% 23% 57% 30%
*x IR JR* 3 ** ** ** ** *
270 145 121 58 101 111 30 85 98 58 156 40 16 8 2 2 4 7 33
Mark Carney 27% 31% 24% 21% 30% 29% 21% 31% 29% 24% 51% 11% 17% 17% 13% 32% 39% 18% 29%
*ok KLR * *k *k *k >k *k K*
151 71 78 39 51 62 35 32 50 34 69 33 12 13 3 - 2 4 15
Jagmeet Singh 15% 15% 16% 14% 15% 16% 24% 12% 15% 14% 23% 9% 12% 26% 18% = 15% 10% 13%
*x K * 3 ** ** ** ** *
32 9 24 16 9 7 6 3 13 10 3 7 7 5 1 1 = 2 7
Jonathan Pedneault 3% 2% 5% 6% 3% 2% 4% 1% 4% 4% 1% 2% 7% 10% 5% 11% - 5% 6%
E *ok G JK* *k *k *k *k *k J*
41 14 26 8 22 1 9 1 15 5 6 15 2 3 2 - - * 12
Yves-Francois Blanchet 4% 3% 5% 3% 6% 3% 6% 4% 4% 2% 2% 4% 2% 6% 11% - - 1% 10%
*x * 3 ** ** ** ** IS
81 38 42 23 27 31 26 21 18 16 19 25 11 3 2 1 3 4 14
Maxime Bernier 8% 8% 8% 8% 8% 8% 18% 8% 5% 7% 6% 7% 12% 6% 12% 11% 23% 9% 12%
*ok * *k *k *k *k *k *
1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Which of the major federal party leaders is best described by the following traits? - Would unite Canadians on the changes and investments required to make us less dependent on the US

ge
A 55

Total Male Female 18-34 35-54 Post Sec The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (B8Q) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M
Base: All Respondents (unwtd) 1000 439 541 229 402 369 30 156 414 400 287 418 94 47 18 7 6 30 93
Base: All Respondents (wtd) 1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
367 199 164 113 133 121 58 106 131 73 277 17 10 13 2 - 2 15 32
Pierre Poilievre 37% 42% 32% 41% 39% 31% 39% 38% 39% 30% 90% 5% 11% 26% 9% - 19% 36% 28%
B *x | KLR * 3 ** ** ** ** KL*
438 203 228 86 137 215 26 124 149 139 12 319 27 15 6 1 1 10 48
Mark Carney 44% 43% 45% 31% 40% 55% 18% 45% 45% 57% 4% 89% 28% 31% 30% 11% 11% 24% 42%
cD *ok GH JLR J* *k *k *k >k *k J*
105 41 56 41 42 22 22 26 34 22 7 18 51 11 - - - 6 13
Jagmeet Singh 10% 9% 11% 15% 12% 6% 15% 9% 10% 9% 2% 5% 55% 22% = = = 14% 11%
E E *x JKR* 3 ** ** ** ** IS
33 6 26 12 10 12 16 4 9 4 1 4 1 1 8 2 = 1 15
Jonathan Pedneault 3% 1% 5% 4% 3% 3% 11% 1% 3% 2% * 1% 2% 1% 41% 38% - 2% 13%
A *ok * *k *k *k *k *k JKL*
29 17 1 14 4 10 14 8 6 1 9 * 2 9 2 - 1 2 2
Yves-Francois Blanchet 3% 4% 2% 5% 1% 3% 10% 3% 2% * 3% * 2% 19% 11% = 12% 6% 2%
D *x K * 3 ** ** ** ** *
28 9 19 8 12 8 10 8 6 4 1 1 3 1 2 3 7 8 4
Maxime Bernier 3% 2% 4% 3% 4% 2% 7% 3% 2% 1% * * 3% 2% 9% 50% 57% 18% 4%
*ok K* *k *k *k *k *k JK*
1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Which of the major federal party leaders is best described by the following traits? - Has the skills to put in place the right government programs to deal with the hardships Canadians will face because of the tariffs being imposed by President Trump

ge
Total Male Female 18-34 35-54 55+ Post Sec The The Liberal [ The New | The Bloc | The Green The Or some | Would not
Conservativ| Party Democratic| Quebecois Party People's |other party|vote/None/| Know/Not
e Party Party (NDP) (B8Q) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N o P Q R
Base: All Respondents (unwtd) 1000 439 541 229 402 369 30 156 414 400 287 418 94 47 18 7 6 30 93
Base: All Respondents (wtd) 1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
344 183 157 103 119 122 55 95 126 68 266 5 10 7 3 1 2 17 33
Pierre Poilievre 34% 39% 31% 38% 35% 32% 38% 34% 38% 28% 87% 1% 10% 15% 14% 12% 19% 41% 29%
*x | KLR K* 3 ** ** ** ** KL*
461 210 243 91 158 212 32 130 156 143 21 328 35 12 8 2 = 9 46
Mark Carney 46% 44% 48% 33% 47% 55% 22% 47% 47% 59% 7% 92% 37% 24% 41% 38% - 22% 40%
C C *ok GH JLR J* *k *k *k >k *k J*
97 35 55 49 30 18 8 35 32 22 5 18 48 6 - - 1 5 13
Jagmeet Singh 10% 7% 11% 18% 9% 5% 6% 13% 10% 9% 2% 5% 51% 12% = = 11% 13% 11%
DE *x JKR* 3 ** ** ** ** IS
35 10 24 10 12 13 16 6 7 6 5 5 1 3 7 1 = 1 12
Jonathan Pedneault 3% 2% 5% 4% 3% 3% 11% 2% 2% 3% 2% 1% 2% 5% 36% 11% - 3% 11%
*ok * *k *k *k *k *k JKL*
38 30 7 12 10 15 25 3 7 2 9 2 - 21 - - - 1 5
Yves-Francois Blanchet 4% 6% 1% 4% 3% 4% 17% 1% 2% 1% 3% 1% - 42% - - - 2% 4%
B *x * 3 ** ** ** ** K*
26 8 18 7 10 8 10 8 6 2 - - - 1 2 2 8 8 5
Maxime Bernier 3% 2% 4% 3% 3% 2% 7% 3% 2% 1% - - - 2% 9% 38% 69% 18% 5%
*ok * *k *k *k *k *k JK*
1000 476 504 273 340 388 146 276 335 243 307 358 94 49 19 6 12 41 114
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Which of the following, if any, should be implemented in order to support Canadians and the economy as a result of US tariffs?

Gender Education Decided-Voters Leaners

[ 000000000000 [ e ] Ae ] G ]
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal The Bloc | The Green The
Conservativ| Party  |Democratic| Quebecois |  Party People's
e Party (8Q) Party of
Canada
A B C D E F G H |

Base: All Respondents (unwtd) 1000 439 541 229 402 369 30 156 a14 400 287 218 94 a7
Base: All Respondents (wtd) 1000 476 504 273 340 388 146 276 335 243 307 358 94 29 19 6 12 a 114
201 102 97 51 64 86 17 60 64 59 9 101 2 7 2 - 2 17 10
Tax relief to small businesses 20% 2% 19% 19% 19% 2% 12% 2% 19% 20% 16% 28% 13% 14% 9% 7% 19% 0% 9%
- IR . - - - - - .
239 13 117 79 74 85 a 86 59 53 55 110 28 1 5 1 3 12 13
Universal basic income 20% 24% 23% 29% 2% 2% 28% 31% 18% 2% 18% 31% 29% 23% 29% 19% 27% 28% 1%
e i R & - - = - = .
107 69 38 33 28 46 3 2 2 19 52 29 3 B 3 1 - 9 6
Lower corporate taxes 11% 14% 8% 12% 8% 12% 22% 9% 9% 8% 17% 8% 3% 9% 15% 23% - 2% 5%
s - R . - - - m = 0
463 236 220 92 177 194 69 121 168 105 182 140 33 24 8 1 8 18 48
Lower income taxes 6% 50% 4% 34% 52% 50% 7% 4% 50% 3% 50% 39% 35% 50% 4% 19% 70% 43% 2%
5 < - R . - - - - - .
123 57 64 27 37 58 16 2n 37 a8 20 64 2 6 1 2 - 1 17
Targeted program for regions with high unemployment 12% 12% 13% 10% 1% 15% 1% 8% 1% 20% % 18% 13% 12% 3% 38% - 2% 15%
- o ) . = - = - - .
145 % 52 37 50 58 27 30 55 34 73 32 8 10 5 1 1 3 13
Eliminating budget deficit 15% 19% 10% 14% 15% 15% 18% 1% 16% 14% 24% 9% 8% 21% 25% 11% 1% 8% 12%
s - w . = - = - m 0
112 58 52 32 40 39 16 24 47 25 32 35 11 13 4 - 4 4 8
Assisting homeowners 11% 12% 10% 12% 12% 10% 11% 9% 14% 10% 11% 10% 12% 28% 23% - 31% 9% 7%
- . - - - = - .
109 n 67 9 27 33 2 38 34 25 37 30 15 B 2 - 1 7 1
Assisting frst-time homebuyers 11% 9% 13% 18% 8% 8% 8% 14% 10% 10% 12% 8% 16% 1% 9% - 1% 18% 9%
o - . = - - - - 0
142 74 67 29 42 70 20 34 47 41 26 68 17 7 2 - - 2 21
Subsidies for companies to create new jobs 14% 16% 13% 1% 12% 18% 14% 12% 14% 17% 8% 19% 18% 14% 10% - - % 18%
- ) I - - - - - I
286 124 154 97 87 102 2 93 %6 72 79 101 29 15 4 1 4 13 39
Atemporary break from HST/GST 29% 26% 31% 36% 26% 26% 16% 34% 29% 30% 26% 28% 31% 31% 2% 11% 39% 30% 34%
o - . - - - - - .
29 20 9 6 10 13 6 9 8 7 5 11 3 3 2 - - 3 2
Rental assistance for businesses 3% % 2% 2% 3% 3% % 3% % 3% % 3% 3% 7% 9% - - 8% 2%
- . - - - - - .
162 75 82 34 59 69 25 35 59 a s 67 18 10 1 1 - 2 9
Increase unemployment assistance 16% 16% 16% 13% 17% 18% 17% 13% 18% 18% 15% 19% 19% 20% 5% 11% - 28% 8%
- . - - - - - .
407 170 228 130 143 135 3 123 148 93 129 163 47 3 2 1 - 6 6
Addressing affordability issues 1% 36% 45% 8% 2% 35% 30% 5% 4% 38% 2% 6% 50% 7% 62% 12% % 15% 1%
A c - . - - = - - .
68 20 42 15 21 32 8 12 28 19 12 23 5 2 3 1 2 4 15
Some other thing 7% % 8% 5% % 8% % % 8% 8% % % 5% 3% 19% 21% 16% 10% 13%
- . - - - - - 5
2 18 23 10 17 14 10 10 1 8 1 10 2 6 1 - - - 11
None - we don't need to provide any support 4% % 5% % 5% % 7% % 2% 3% 2% 3% 2% 13% 5% B B 1% 9%
- . - - - - - X
2634 1269 1313 723 878 1033 366 71 894 652 806 984 242 128 55 11 27 111 270
sigma 263% | 267% | 260% | 265% | 258% | 267% | 251% | 261% | 267% | 268% | 263% | 275% | 257% | 263% | 290% 172% | 208% | 268% | 237%




